For Problems 4-6

If A and B are two square matrices of order 3 x 3 which satisfy
AB = A and BA = B, then

4. Which of the following is true?
a. If matrix A is singular then matrix B is non-singular.
b. If matrix A is non-singular then matrix B is singular.
¢. If matrix A 1s singular then matrix B 1s also singular.
d. Cannot say anything.

5. (A + B)’ is equal to
a. 7(A + B) b.7-1,,,
c. 64 (A + B) d.128 [

6. (A + 1) isequal to (where [ is identity matrix)
a. [ + 60/ b. 7+ 16A
c. I+ 31A d. none of these
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